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1. BEEROLR
(1) #FE IS
EAEERS 0 0 40,000 40,000
BEEEERD 40,000 10,000 50,000
ZMaE 3,025,000 3,025,000 6,050,000
== S 28,965,000 4,225,000 33,190,000
ZHMEEEF 9,000,000 2,150,000 11,150,000
HMURaE 20,000 20,000 10,000 50,000
BRI E 41,050,000f 6,405,000/ 3,075,000 0| 50,530,000
(2)EEER
EEE 41,812,000 3,793,000 45,605,000
EEE 2,211,000 2,211,000
BEREA 41,812,000 3,793,000/ 2,211,000 0| 47,816,000
SRS AT MR A A 762,000 2,612,000 864,000 0 2,714,000
LR EEEE A 762,000 2,612,000 864,000 0 2,714,000
2. BESMEBOE
(N FEESIREE
EE RIS 0
) BENER
EE & ERRAE 0
BENEAG 0 0
LR BEIMEREE 0 0 0 0
bR EHREER 1,214,055 A 1,397,945 183,890 0
43— AR IE LR A EE IS R AE 452,055 1,214,055 1,047,890 0 2,714,000
—RERMENRERS 103,011,658 24,448,872 11,009,074 138,469,604
—IRIERREIEHIRES 103,463,713 25,662,927 12,056,964 0 141,183,604
I $EXEIERREERB DR
I IERREAEHRES 103,463,713 25,662,927 12,056,964 0 141,183,604
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